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getamlerat & e AT - Instructions for the candidates :

1. WW OMR 39V Y& Y7 3AYAT 1. Candidate must enter his / her
gvT GRA®T FHE (10 B F0) Question Booklet Serial No.
Havg fer@ i (10 Digits) in the OMR Answer

1 Sheet.

«Candidates are required o qiie 1N
nswers in their own words s far

3. A v aferd W g ,5 in the nght hand margn

tes of extra tune nave bt
ted for the candidates o read

the qua&[‘zons carefully.

5. g 9T gl §1 @8] # ¢ — @US-H 5. This question booklet s divided into

od @S-/ two sections — Section-A and
' Section-B.
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0.

@S- ® 70 axyfre gy § fw 6.

q 2t 35 avat &1 3av a1 Sfard
1 35 7o @ ofm a7 I 3w
H 35 @1 & gl gy geE @
fore 1 3@ Pt &1 gvar 397 99 &
e sy @ MR S-E
? ke 1 w8t ooy & e/ F1
FeT 9 & yg F feat o geTr
¥ ST / v want / sy [
TGT T FT OMR F77 79 ¥
WA FXAT A §, arwwr gdiar
TR s gy

GUE -  H 209 Iodtg gy §
yEw & e 2 siw frffa & Frm
g fE=t 10 wdt @1 Fav v
sifard & 1 73 fofis 7@ @ve 7
6 319 Iwvia w7 34 na & gw &
fe s % fuifia & fad 8 fe=f
39¥AT T JAT 37 Sfrard &

fFq 7#R & goagias I9H F 8.

FanT quiaar aferd & 1

In Section-A, there are
70 objective type questions, ou: s
which any 35 questions are to pe
answered. If more than 35 question.,
are answered, then only first 35 ..
be evaluated. Each question curn..-,
1 mark. Darken the circle with blye
/ black ball pen against the corre-
option on OMR Answer She:
provided to you. Do not use
whitener / liquid / blade / naij
etc. on OMR Answer Sheet,
otherwise the result will be
invalid.

In Section - B, there are 20 short
answer type gquestions. Fuc-
carrying 2 marks, out of which any
10 questions are to be answered
Apart from these, there are 6 long
answer type questions, cq. -
carrying 5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
stnctly prohibited.
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@UE - A / SECTION - A
El'FII-%""E"'I;W_"'t"lC)l'.-_jI.-.ctiw: Type Questions
Ty WEAT 18 70 7F F URdF 7y & wryr 9w Ay R nv & frad @ ve wat d
T FRT Y7 ¢ WET fFeq B OMR Iz qT RafRv ¥ et 35 9t T I S

‘ 35x1=235
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

. Feifed § @ o5 aelefis B @ e & 2

(A}, W (B) 3R
Q FeAl (D) ATYTaTAt
Which of the following is an example of Parthenocarpic fruit ?
(A) Orange (B) Pomcgranatc
(C) Banana (D} Pear
2. Wew fHgs & @ Gane st ¥ 2
(A) I T FHIEASTRT (Bl. UHfeter e ammwiaten
(C) RIS e AR e (D} Tiferr qun o

Peripatus is connecting link between

(A) Mollusca and Echinodermata  (B)  Anneclida and Arthropoda

{C) Porifera and Coclenterata (D) Reptilia and Avcs (Bird)
3. 3Rfad gefua &

(A) SafEd (B) IFiH T F

(€) HFEEES fowe 9 D) T [ @i

Darwin is associated with

(A) Mutation (B) Natural selection

(C}  Inorganic evolution (D)  all of these
[ 119 ] A [11015-A Page 3 of 24
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4. gt § R WhR @ oty g o & o
W s |  fefr

€ Frforg D) ¥ F FE 7
Which type of endosperm is found in Angiosperms ?
(A)  Haploid (B)  Diploid
(C) Triploid (D)  None of these
5. Wﬁw%wmm%‘ﬁﬁuaﬂwww% ?
(A)  WIRaR (B) HR earen
(C) 1 Oeffarer D), ¥ earer
Whalt is called the membranous covering of ovum at the time of ovulation ?
(A) Chorion - (B) Corona radiata
. (C) | Zona pellucida (D)  Zona radiata
6. o foea & i forw Ry @ s ad ¥ -
(A)  TAfshgar (B,  ITET 5
(C)  TEYU D) IFEE T
Sceds without fertilization are obtained from which method ?
(A) Dormancy (B) Apomixis
(C)  Polyembryony (D) Parthenocarpy
7. O g A AR @A & o s @2 @ w we s o
(A) e G (B - SiHIg
(C)  ©I&0T Y&y (D) SH Wreg
A haploid sct of all the genes present in a gamete is called
(A)  Linkage group (B)] Genome
" (C)  Phenotype | (D)  Genotype
1119 ] A [11015-A Page 4 of24
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8. Ceonfa Reiefw Fmifea 8 R fam Avrdt s ¥ 2

A) ™ B) T v
(C) wRERIE o) o=
Entamoeba histolytica is causal organism of which of the following diseases ?
(A) Tetanus (B) Chicken pox
(C) Filariasis (D) Dysentery

9. T A grEgH Wud Freifea d @ fows ma o wmn S € 2
(A) T TUT R & T (B) WA U ¥R F W
(C & &Rl F T (D) T E T
In DNA, hydrogen bonding occurs between which of the following ?
(A) Sugar and base (B) Phosphate and base
(C) Complementary bases (D)  All of these

o, Sty fw e % ot o ¥ 2
) g - B EARNE
(SRR 1t D) AR

Sunken stomata are found in which type of plants ?

(A) Hydrophytes (B)  Halophytes

(C) Xcrophytes (D) Mesophytes
1w T freifea e dfe @ ETieRe E 2

(n  ufge | B W UM

(©) e o) e

Mammary glands arc modification of which of the foll?wing glands ?

- (A) Adrenal gland (B) Swcat gland
(C)  Endocrinc gland (D)  Thyroid gland
| 119 ] A 11015-A Page S of 24
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12. v a3 f @Y us s daww 2 )
A I gt @) CmReifeam spEtsog

C) dulorw oagEfeRa gy (D) @i Megfran

Which onc is a good vector in genctic engineering ?

(A) Bacillus thuringiensis (B)  Agrobacterium tumefaciens

(C) Bacillus amyloliquefaciens (D)  Salmonella typhimurium
13. ﬁ&wnﬁweﬁmqaﬁ%ﬁaﬁdmmaﬁwmm% ?

(A)  DNA UTeisy (B) DNA ®Z7

(@ ¥iaE degfaers (D) Td Efme
Enzyme that cuts DNA at specific sites is called as

(A) DNA polymcrase (B) DNA ligase

(C) Restriction endonuclease (D) Reverse transcriptase
14. URUGEd F1 FeeAd & 2
(A} - @UNH (B) fawnums

(C) el D) AT

Phytoplanktons arc called as
(A)  Autotrophs (B)  Heterotrophs

(C)  Saprotrophs (D) all of these

15. T G @ 5, HEER 1 SEed § 0
grafye IGEH (B) WM& I9NIHT

(A)

c) feeiaw 3a@Es Q fdias 3o

In grazing food chain, carnivores are

(A)  Primary producers ‘ (B)  Primary consumers

(C)  Secondary producers (D)  Secondary consumers
[119] A [11015-A Page 6 of 24

https://www.bsebstudy.com



16. RIEE ‘.{UT h 3N T A+ (31'71'(7[) F:ﬁ?]’.] TR & a7 farmtorer 21t 3 ;

(C)  ur=El 9EAT oy e f

In human foctus the limbs and digits develop after how many wreks 2

(A) 8 wecks (B) 12 wecks

(C)  Fifth month (D)  First trimester
17. ] et § ypeopet @ Rerd e swendt & 0

{Ql . YT S (B) gH$ A

(C) F[hT9] WA (D) - ¥FRI] HNUTRTAT

Release of sperms from seminiferous tubules is called

(A) Spermatogenesis (B) Gametogencesis

(C) Spermiogenesis (D) Spermatogonia
18. wifead F=ifea # @ frod smstg sxar & 2

(A) Yt T | (B) FEE

(C)  SlutAu wiaeo (D)  TH |/

Colchicine interferes in which of the following ?
(B) Polyploidy

(A) Spindle organization
' (D) All of these

_ (C) DNA replication
19.  Y-TUTgS T &l & ?
e B). whrEf®

(A)

Lo R D) iR

Y-chromosomc 18
(A) Acentric (B) Acrocentric
(C) Submetacentric (D)  Telocentric

[ 119]A 11015-A Page 7 of 24
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20.  acuTagT e gRT wifus gads #Rar & 7

() STgl % g (B) & g[

(¢ ufwat & gro : (D) %% % g
Bryophyllum is vegelatively propagated by

(A) Roots (B) Stem

(C)  Lecaves (D)  Tuber

21 T W H) arialk et B 9 Fw A L

(A} &Y (B) T

(Q = (D) 3R

The internal buds of fresh water sponges are called

(A) Tubers (B) Gemma

(C) Gemmule (D) Osculum

22,  quAI UL IUH Faf | ¥ 7
(A} 3T WY (B) T WV
(C) GG (D) Y=
’ Dudhwa National Park is located in
(A) Uttar Pradesh (B) Madhya Pradesh
(C) Gujarat (D)  Rajasthan
23, T[WIF Gl ot STiaEl 1 dRer forees e { fean st & o

(A, ST (B) S TR

() &EfEm (D) O WYH gRY
Endangered plant specices are conserved through
(A) Gene Bank (B)  Gene Library
(C)  Herbarium (D} By grafting
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24, i) wfoas ¥ wr @ & 2
W S (B) JRTTT
(C) IRTA AWM A ' D) 398 & I3 @
Bacterial plasmid contains
(C}  RNA & protein (D)  none of these
25. e wug forw fafy gm Bfig e 2 2
(a) SR S A e | S S e
(C) WK S Wt we e D) et S 1 3A-Hig
Bt cotton has becen produced by which method ?
(A) Northern blotting of Bt gene . (B) Cloning of Bt gene
(C) Southern blotting of Bt gene (D) In situ hybndization of Bt gene
26. RO R
(A)  EcoRI B) f=
() BR332 (D) T
Plasmid is
(A) EcoRI (B)  Hind Il
(C) pBR 332 (D} all of these
27, e #eT § SEAR W@ S 9 2
@) TiEE (B) Trafas
@ fnefraa D) ¥ | HIE A
Dinosaurs were dominant creature during which period of era ?
(A) Jurassic (B) Triassic
{C) Crctaccous (D)  None of these
[119] A [11015-A Page 9 of 24
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28 Frd) g ¥ faerear) sfaera &) fed A | S AR e ?
(A e (B) SISl
) ey fasme ‘ (D) &%

Evolutionary history of an organism is known as
(A) Phylogeny (B) Ontogeny

_ (C)  Palacontology (D)  Ancestry
29.  wvd-face wifeuw fead da # ae FYE 2
(A)  JATEUTST Tw O & &9 (B)  IHFASHS qul S & 94

(©  GOgY qun ol & dra ([  HOgY AR &
Duck-billed Platypus is connccting link between
(B) Echinodcrmata and Chordata

(A) Arthropoda and Mollusca

(C) Reptilia and Avcs (D) Reptilia and Mammalia
30. gmifagwcdt FTE ?

(A) TS BEH (B) WH %1 @Ug

(Q & w9 (D) ¥ @ ad

What is allcle ?

(A) A muton (B)  Segment of gene

(C) Forms of a gene (D) All of thesc

31.  ABO T GHE YUTelt fhaeh &R ¢ ?
() Tl B) CRRfEE (v

(C)  3TqUl wwrferar (D)  HAUE! WA

ABO blood group system is due to

(AJ Mul!.lple allelism [B} Eplstasls

(C) Incomplete dominance (D)  Recessive epistasis.
| 119 ] A |[11015-A Page 10 of 24
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32. IR .2}, TATTA-20 o1 Hiug-7 Frifere o ferae sgmom & 5

(A TR Y Ffeeer fafy B i
(C) WA dAE Weraar DL s o

Cu T, LNG-20 and Cu 7 are cxamples of which of the following ?
(A) Surgical methods of sterilization

(B) Contraceptive pills

Q) Assisted réproductive technology

(D) Intra-Uterine Device (IUD)

33. WU B & Feifoa S § SR & 69 F1 WFIRT H1 FEEA £ 7

(A) GIFT (B) ET

(C) 1T (D)  ZIFT

Transfer of an ovum of a donor into fallopian tube of a surrogate mother 1s
(A)  GIFT B) ET

(C) IUT (D)  ZIFT

34. GEdFEH T adE ?

(A) THTH B T

© (AT (B) 3 D) 3H | &E @
Purines consist of how many ring(s) ?

(A) Single ring (B) Double ring
(C) Both (A) and (B) (D) None of these

35,  aFARA B frar freifed o @ e 5e &t € 2

(A) HHHH (B) el H
(c eifer 5o | (D) 3 | ud

The process of translation occurs in which of the following sites :

(A)  Nucleus (B)  Nucleolus

(C) Cytloplasm (D) Al of these

[119] A {11015-A Page 11 of 24
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36. iy 3 deae YR @ e e g e e E 2
(s (B) TR

(C) FHRH (D) T HIE A
DNA packaging in cukaryotes is done by the formation of
(A)  Nucleosome (B) Chromosome
(C)  Chromatin (D)  none of these
37. mﬁq@ﬁwww%ﬁéw#ﬁéﬁﬁ% ?
(A)  PIARBRURR ¥= B TOTEHIENLEH v
(C) dwrEs dyq ' (D) RSN &y
In DNA nitrogenous bases are joined together by which bond ?
(A) Phosphodicster bonds (B) Glycosidic bonds
(C) Pepuide bonds (D) Hydrogen bonds
38. 2Nl (7&Tn) ® IMeHE FH ¥ 2
(A) ECIHFFT- (B) oG

-

(C) I | (R  TEERERT

Causative agent of Tuberculosis is

(A) Streptococcus (B) Salmonella
(C) Pneumococcus (D) Mycobacréﬁum
39,  uferer womett @t -wifera T -wifemet @ e Rewd dar ¥ o
(A, sRemeT B) - i |
(C) urzEd - D) FHI WA
Both'B-cclls and T-cells of immune system are prodﬁced in
(A) Bone marrow (B)  Spleen
(C)  Thymus (D) . All of these
[119] A [11015-A  Page 12 of 24
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41.

42.

43.

ﬁQ]A 11015-A

AeT fvm M & e e d

A 9 arEg (B)  Mav mifcey

(©)  Fifwar sfawr D) dm s
Opium is obtained from which plant ?

(A) Thea sinensis (B) Papaver somniferum
(C) Coffea arabica (D) Saccharum officinarum

ELISA &1 7t faeifea 8 @ fem o) &1 7 o o fear s & 0

CAES A E£:S

Typhod

(A) & HIE (B)
€ fezaw (D,
ELISA 1s uscdd in detection of which of the following discases ?
(A) Hay fever (B3)
(C) Tetanus ()

m ugum faamsr o oA 2

(A) #;mﬁ-‘f: (13)
(Q SHEA (D)
Noisc pollution 1s mcasured in

(A) nanomelcers ()
(C) decibels (D)

AlDS

hertz

dalton .

q@mwvﬁaﬁﬁﬁmm%,mﬁnﬁqﬁ?

(A} CO, (B) SO,
(C) CO Q] CFC
Chicf air pollutant which is likcly to deplecte ozone is
A) CO, (B) SO,
(Cy CO (D) CFC

Page 13 of 24
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44, UmRZ FGIE ?

A Forelg o B) e HoEl
(Q g moe D) faer gl
Pomfret is
(A) Fresh water fish " (B) Cuttle fish
(C)  Marine fish (D)  Silver fish
45, ‘TFrEd’ e | @ frwa St ¥ )
(A) B) @
(C) - FYTEGE (D) WH & HH
'‘Ranikhet’ is the disease of which of the following ?
(A)  Chicken (B) Prawn
(C) Honeybee | (D) Silkworm
46. 34 W 39N (AW WM & fow g @ R A €2
(a) S (B) ~ WREE
(C) TSI D) IR
To increase lactation / milk yield, cow is given
(A)  Prolactin (B)  Sorbitol
(C)  Gonadotropin (D)  Stilbesterol
47 feaafaero feas for Syarit et g 2
(A) A g & feg (B) wiffew it F feu
() o T & e @) . ¥} wh
Cryoprcscwution is useful for +
(A)  very young foctus (B)  living cells
(C)  preservation of scmen | (D)  all of these
[119] A [11015-A Page 14 of 24
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48. mmmmmwﬂﬁm%?

QL - ThuaT™y T
(B)  UTcAfeed

(C) '

TR O e g
Graafian follicle is maintained by which hormone ?
(A) FSH |
Q (B) Prolactin

Est

rogen (D)  Lutenising hormonc

49.  3HITHI THS F47 £ 2

(A)
(B)

1%

(D)

HRTAT &1 BRI T

SITT &I BT THET

ST &7 BT T it 37 > 5 Fowm F w @ ST TR W A §
RTAT HT BT THIT 57 3 5 fgen o w77 &

Okazaki [ragments arc

(A)
(B)
(€)

(D)

small segments of RNA

small DNA scgmcents

small DNA scgments formed over DNA template running in
3'-» 5'dirccton

small segment of RNA formed in 3’ — 5’ direction

s0. 3 BOD ¥l T € 2

(A) ST H HH AGI B FEE W ST

(c) @H deq STl D) 9 g

High BOD indicates

(A) less polluted watcr (B) highly polluted water

(C) lcss scwagc (D) less microorganisms
[ 119 A 11015—A| ll’ag(': 15 of 24
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. 5 b ?
mﬁéqmm%ma@sﬁﬂﬂﬁmﬁﬁﬁq&wmmmmmg.

e
(A) A I9E "a/ gyl
) &R e (D) SHAA F9E
Increasc in atmospheric temperature duc to CO, 1s called as
(A) Emerson cflect (B}  Pasteur effect
(C)  Greenhousc clfect (D)  Blackman elfect

52 WIE @ STl YR ST el wiA-u g 2

() 3me fast B S g
(Q  Tuet gt D) S e

The soil with poorest water holding capacity is
(B) Sandy soil

(A) Loam soil
(D) Black soil

(C)  Clay soil
53, a7 ol Y BrE § I ot Ol 1 T FE AR e 2

(ﬂ} ‘g’qﬁqﬁ:ﬁ{ (B] mq

( o e (D)  37E-3THIRY
Plants growing under the shade of other plants are known as
(A) Mesophytes (B)  Epiphytes

(C)  Sciophytes - (D) Semi-epiphytes

54 TS 9NY = YR A € 2

(A] - CAM WehTH H¥ersul (B) 'mw_ﬂ%w
(C) ST AT FC H ) i} @

Succulent plants perform |

(A) CAM photosynthesis (B) C3 cycle of photosynthesis

(C)  C, pathway of photosynthesis (D) none of these

[ 119 ] A [11015-A Page 16 of 24
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85, W%ﬁwa}éﬁ%ﬁmﬂfmﬁﬁmfmwm?

(A Hew |
(B)  AZTH
(C) HRH .
éh k e T
ccker b
oard mcthod of calculation was dcveloped by
(A) Mcndecl
©) N (B) Bateson
0
fgan (D) Punnett
6. WHT T AN Svvras % wit w1 Hwem ¥ ?
(A)  UH-THT T B) gt dHm
| (€) QA& HehyoT (D)  E9Y HHIOT
‘Cross between hybrid and recessive parent is known as
(A) Monohybrid cross (B) Dihybrid cross
(C) Test cross ' (D)  Back cross

57. f=fefaa & 9 #F ara o sifusan sty fafouar ke & 2
(). T (B)  YTheN

Q arad (D) HH

Which of the following shows maximum genetic diversity in India ?
| (B) Groundnut

(A} Maize
(C)  Rice (D) Mango
sg. Fer o @ W oawd T E 2
ny  TaRTerET 9 (B)  WSTETETH
() T el )

Which onc is not endangered ?
[ Giant Panda (B) Podophyllum
ia

(D)  Margosa
(C) Bald Eagle

I'IIQIA ]1015-AI Page 17 of 24
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59. U 3iTEle™ @1 3MaR g ¥ 2

(A) S ST | fepsfed

(€) =9 3rgwH A e (D) oFHH H FgEI

The basis of DNA fingerprinting is

(A)  DNA replication (B)  the double helix

(C)  errors in base sequence (D)  polymorphism in sequence

60. 3l it § s Ti-enfene P § e e e € 2
(A)  unRfdedign egEktEe B) wRWATy Hfst
(©)  uaiEfaeiEn TEHS D) e FeEeriad

Ti plasmid used in genetic cngineering is obtained from which of the

following ?
(A) Agrobacterium tumefaciens (B) Pseudomonas syringae
(C) Agrobacterium rhizogenes (D) Bacillus subtilis
61. U Siamey @41 g1 & 2
(AL, 37T &1 Td T¥] (B) i & Ao HaR
(C)  TEITRIH TG W (D) FH | &I &l
A fossil is a |
(A)  dcad animal of the past (B)  organic relic of the past
(C) laboratory preserved animal (D) . none of these
62. ARTAT gEae s forg 3w € 2
(A)  ThiTyTeRT &M ~(B)  ifveR wER
(c)  wHiferhr faferiaon @ O R

RNA intcerference 1s uscful for

(A)  ccll defence (B)  cell proliferation"
(C) ccll differentiation (D) miCI‘O-propagation
[119]A llOlS-i‘ ~ Page 18 of 24 .
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3. i ' '

6 Wﬁmﬂ%ﬁﬁﬁm}m%mmwmmm%?
(A)
(€ oI & oo D) FHREfE deo

In genetic eng;j :
engin o
fgineering, restriction enzymes are used for cutting

(A) ©  Bacterial DN
A
B A
| ©) Viral DNA (B) ny DNA fragment
‘ (D) Eukaryotic DNA
64. ZESIFH fesdm ; ; '
K- i E s R R T Ry S— g2
A - .
A R (B) gy dFew
(C) 3wy o FEwT e
Transgenic hirudin is obtained from which of the following ?
(A) . Tomato (B) Ocimum sanctum
(C) Potato (D) Brassica napus
65. &M S AT A wErad fear
(A) Wiiaw 997 &1 fagia (B)  wifaan &1 g
(  SARE i (D) THEHTOT H A
Hugo de Vries proposed https://www.bsebstudy.com
(B) Law of Dominance

(A) Theory of Natural Selection

(C) Theory of Mutation (D) Law of Segregation

66. @mmﬁﬁm@wmg,%
i R aiEH (B) TR 3R W
P T

¢ obtained from plants i1s
(B)  Pyrethrum and Cinerin

(A)
© A

A natural insecticid

Nicotine and Pyrethrum

" (D) all of these

(C)  Rotenonc

:i[ 119]A Page 19 of 24
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o7 N AT ReriE F e -4

o A

al nitrogen fixation ?
(B) Nitrogenase
(D) Allof these

€ ZEh
Which cnzyme is required for biologic

(A) Nitrorcductasc

(C) Transferasc

68. ﬁiﬁiﬁﬁﬁaﬁﬂ-maﬁﬂ'ﬂtﬁﬁﬁ@ﬁamg ?
(A, ~ Qe (B) AT
©) fsEH o) @At

Which aquatic fern in the following is an excellent biofertilizer ?

(A) Azolla (B) Marsilea

(C)  Ptendium (D) Salvinia

60. HFE % g fei e 7 famert @, o 2

(A) | ufeen wEE (B)  SHIETHA WA

Wf fAuvetye wAg (D) E S AE
The ancestors of humans who did paintings 1n caves werce

(A) Pcking Man (B) Cro-Magnon Man
(C) Ncanderthal Man (D) Java Ape Man

70, F PO 9 w1 g Ried Efeigd 7 @ fewd g g 2
- AT R B) FaERfsTT iR
© e T D) By

Blood cholesterol lowering statins arc obtained from which of the following ?
(A}  Monascus purpureus (B)  Clostridium butyricum

(C)  Mucor javanicus (D) Streptococcus

(119 A [11015-A] Page 20 of 24
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WU% - ¥ / SECTION - B
H.q Wﬁﬂ' =/ Short Answer Type Questions

T O WS\T 1§ .

iR #

Question Nos. 1 to 20
. are S X , _
. ¢ Short Answer Type. Answer any 10 questions. LEach uestion
carries 2 marks :
10 = 2 =20

L ST e st ) S st gue s ae ,
Wh' 1 - ™ o v
atis DNA probe ? Explain its usefulness in biotechnology.
2. ﬂﬁwﬁm@%ﬁ%E@ ¢ fraqut Fefign
Wnite comments on adaptations of desert plants and animals.

3. HHI MY /e qur o &) ufvefee i

Define human Umbilical cord and Placenta.

4.  WREI-STA H IZE Yied THARW

10 x 2 =20

[ o]

QW]

b

Explain Food-web with example.
5. =l 9r d9F g9k I & AW feie | >

Write the names of any four sexually transmitted diseascs.
6. SICIU ST Ul S X H TR

ain about DNA ligasc and Chitinasc.

I

Expl
v amq g @Eerd & 2 W fear 6l faivat & am fefag 5
. Qo § AW
What do you understand by pollination ? Write the names of the pollinaton
mcthods.
8.  ggo @l JEL wled gueAt| 2
e cxamples.

Explain budding with

— age 21 of 2¢
I19]A (t0sA] e
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Y

10

13.

149.

16.

8.

10,

20.

i v FfategAfen 3 siw @ i)
Dilferentiate between Karyogamy and Karyokinesis. ,
2

~ ; et g
w2130 oy AAlerzy A g T AER § 7 WAH H
an example of cach

ive
What do you understand by phenotype and genotype ? G

b s o . . 9
Ci%- 3T & gty feoo ferd

Write a note on functioning of Lac-opecron.

' 2
ST T o Fr AN
What do you understand by DNA polymorphism ?
* 2

G % Javis) e &) g aRv

Make a list of human vestigial organs.

w3 fafguar & fet d gt % am fafau

Write the names of any three parts of biodiversity.
TR fagia @ e w=n go@ € 2

What do you understand by Recapitulation theory ?
URA & 9R U I & 9w fefgu

Write the names of four national parks of India.

3@ A F A9 T4R A 9.7 fory 3eanfea eam
Name the bacterium which produccs B.T. toxin.
SAFIY] Tl EE ITTEH F FEed

Why are bacteria and fungi called decomposers ?
Sty ARgie & et &) qIHIT |

lcxplain biological nitrogen fixation.

QAT F1 T WA F1 aRwifye aife

Deline Eutrophication and Algal blooms.

]

)

o
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8 3% Fuifa ?ra’ﬁ?ﬂﬁmrrmomﬁﬁgﬁm, 3xs<1s

Question Nos. 21 to 26 are
question carries 5 marks. G

21.

22,

23.

249.

Lon ; o .
| 9 Answer Type Questions. Answer any 3 questions. Each
tve your answer in about 120 words. 375=1]5

TR I 3y e & 2 sfcee @1 e vt

What do You understand by central dogma ? Describe transcription in detail
iR vt & 3t 3

(@) 2 7 sfeeitan @ e w0 2
(b) WHEE & o=t 9 ant % a1 fod L
© U F Frt @ ford '

Answer the following questions :

w

(a) Define vaccine and immunization.
(b} Write the names of any threc groups of antibodies.
(c) Write the functions of antibodies.

it o 3oy W &<
(a) AU AU hIE T |
(b)  STEEed §ada qu] S GasA |

Diffcrentiate between the following :

| ]
e

(a) Inbreeding and cross-breeding.

(b) Protoplast culture and tissuc culture.

frffaa o A fhel gt &1 a0 & 2.

-
|
]
7]

HeRTaas T adl FEOl

(a)
(b) J[HATAA ddl JHSAT 3
) - @ B-farwramEe |
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Describe any two of the following :

(@),  Infectious discases and transmission
(b) Homology and Homologous organs
(c) Filariasis

(d) T-lymphocytes and B-lymphocytes.

25, Freifeen &) drerer smifern fa gy 2w
(a) H@ﬁmqaﬂﬂm

(b) WM HRTAT 1 FHAET o6 T
(c) HIHSF [T |

Show the following with the help of labelled diagram only :
(a) Structure of AIDS virus

(b) Clover leal model of t-RNA

(c) Human sperm.

26. faeifeRd @i ultanfa o7
(a) ifes wew (fed) e &)
(b)  WREY 99
© WA gig

(d fagea

-

(c) i 3IEH |
Define the following :
(a) Biotic components (of an ecosystem)
(b) Greenhouse cffect
(c) Population growth
(d) Emasculation
(c) ‘Biofertuhzer.
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